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r— 

June, 2014 

ES-361 

 

ES-361 : EDUCATIONAL TECHNOLOGY 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All four questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Explain the importance of organising learning 
experiences. Discuss, in brief the principles of 
organising learning experiences. 

OR 
State the importance of radio programme in the 
teaching-learning process. Describe how you can 
utilise effectively radio programme in classroom 
teaching with an example. 

2. Answer the following question in about 
600 words : 
What are the advantages of using emerging 
technologies in teaching-learning process ? 
Discuss, how computer based technologies can 
be used for educational purposes. 

OR 
What are the characteristics of a visual aid ? 
Describe the procedure of preparing two-
dimensional visual-aid. 
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3. 	Answer any five of the following questions in 
about 120 words each  
(a) Explain the nature of future classroom. 
(b) Mention the features of open school system. 
(c) State the key characteristics of participatory 

learning. 
(d) What are the characteristics of educational 

technology ? 
(e) Mention the advantages of simulation as a 

mode of Computer Assisted Learning 
(CAL). 

(f) Discuss briefly study skills required of 
learning effectively. 

(g) Explain the nature of experiential learning. 
(h) Differentiate between scientific approach 

and humanistic approach to evaluation of 
educational technology. 

	

4. 	Answer the following question in about 
600 words : 
Identify a topic of your choice and select the 
appropriate media to be used while teaching the 
topic. Discuss the factors you will consider while 
selecting the media. 
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